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Note : All questions of section-A are coupulsory. In setions - B and C, give answers as per instructions

given.
SECTION-A
1.  Fill in the blanks : 5
(a) The decimal system of numbers was discovered in period.

(b) Deficiency of Vitamin A causes
(c) Cloning of animals has been possible due to advances in
(d) IQ measures a person’s

(¢) Thenon-conventional renewable source of energy that can be trapped for domestic
and industrial use is

2. State if the following statements are True (T) or false (F). 5
(@) Nuclear wastes are persistent pollutants.
(b) Chicken pox is water born disease.
(c) Use of steam powered engine led to the Industrial Revolution.

(d) The mass of resulting nucleus is the same as the sum of masses of fusing nuclei, in
nuclear fusion.

() The INSAT series of satellites are used only for telecommunication.
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3. Give short answers for the following questions (in not more than 50 words) : 10

(a)
(b)
()
(d)
(e)

FST-01

State two innovations made in the field of technology in Medieval India.
Differentiate between quasars and pulsars.

Give the applications of optical fibres in medicine and telecommunication.
Name two areas where we do not depend on imported technology.

What are the salient features of mixed, and relay-cropping systems ?



10.

11.

12.

13.
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SECTION-B
Answer any eight questions. Limit your answer to 100 words for each question :

#The Theories of science are influenced by the general intellectual atmosphere and

ideas prevailing in the society”. Justify the statement with the help of suitable examples.
State five factors that cause water pollution.

Explain the term ergonomics. List two examples where application of ergonomics can
improve the output. |

Describe two evidences that support the evolution of homo sapiens.

What do you understand by Big Bang theory ? Give one evidence in support of this
theory. ‘

What factors were responsible for the breakdown of feudal economy ?

Why is social forestry important for a farmer ?

Mention the salient problems associated with modern agriculture.

Explain the principle of remote sensing method for exploring natural resources.

What are the consequences of deforestation ?



14.

15.

16.

17.

18.

19.

SECTION-C
Answer any four questions. Limit your answer upto 200 words for each question :

Discuss the need for scientific approach in overall planning. In this approach what 10
factors should be taken into account while planning a large dam or an electric power
plant ?

Describe the stages in the life cycle of a star. 10

What are endocrine glands ? List major types of endocrine glands. Give functions of
any five of them. 1+4+5=10

What measures are being taken in India to encourage research in science and technology 10
and their application in industry ?

List various modes of spread of diseases. Discuss any two of these modes along with 10
methods of prevention.

How do living organisms maintain a normal external and internal structure and
environment in spite of change in outside surroundings ? Illustrate with an example. 545
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FST-01 8



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

